
defender-ST™

MICRO RED DOT

© 2024 Vortex Optics. ® Registered Trademark and TM Trademark of Vortex Optics. 04/30/2024  Version: 2

1

22
3

Parts
ITEM NO. PART NUMBER DESCRIPTION QTY. NOTES

1 A-00971-0 Defender-ST™ Picatinny Mount 1

2 C-04357-0 M4x0.7, 9.8mm Screws 
(Glock,Springfield) 4

3 A-00970-0 Defender-ST™ Battery Cap 1

In-Box Accessories
ITEM NO. PART NUMBER DESCRIPTION QTY. NOTES

 C-04531-0 Defender-ST™ Rubber Cover 1

 M-00330-0 Defender-ST™ Red Dot Owner's 
Manual 1

 C-04356-0 M3x0.5, 9.8mm Screws (Sig PS65XL) 4

 C-04357-0 M4x0.7, 9.8mm Screws 
(Glock,Springfield) 4

 C-04358-0 M4x0.7, 11mm Screws (P320, Canik) 4

 C-04359-0 6-32, 10.8mm Screws (S&W 2.0) 4

 C-04360-0 6-40, 9.8mm Screws (FN-509) 4

 C-04361-0 6-48 screw, 9.03mm Screws (HK, 
Kimber) 4

 C-04532-0 Custom Tool 1

 C-04533-0 Glock Plate 1

 C-02963-0 Lens Cloth 1

 C-04536-0 M3x0.5, 6mm Screws (Glock Plate) 4

Defender-ST™  Micro Red Dot 
Models

Models Features
DFST-MRD3 3 MOA MRDS Reticle

DFST-MRD6 6 MOA MRDS Reticle

Defender-ST™ Micro Red Dot
DFST-MRD3, DFST-MRD6

1

22
3

Parts
ITEM NO. PART NUMBER DESCRIPTION QTY. NOTES

1 A-00971-0 Defender-ST™ Picatinny Mount 1

2 C-04357-0 M4x0.7, 9.8mm Screws 
(Glock,Springfield) 4

3 A-00970-0 Defender-ST™ Battery Cap 1

In-Box Accessories
ITEM NO. PART NUMBER DESCRIPTION QTY. NOTES

 C-04531-0 Defender-ST™ Rubber Cover 1

 M-00330-0 Defender-ST™ Red Dot Owner's 
Manual 1

 C-04356-0 M3x0.5, 9.8mm Screws (Sig PS65XL) 4

 C-04357-0 M4x0.7, 9.8mm Screws 
(Glock,Springfield) 4

 C-04358-0 M4x0.7, 11mm Screws (P320, Canik) 4

 C-04359-0 6-32, 10.8mm Screws (S&W 2.0) 4

 C-04360-0 6-40, 9.8mm Screws (FN-509) 4

 C-04361-0 6-48 screw, 9.03mm Screws (HK, 
Kimber) 4

 C-04532-0 Custom Tool 1

 C-04533-0 Glock Plate 1

 C-02963-0 Lens Cloth 1

 C-04536-0 M3x0.5, 6mm Screws (Glock Plate) 4

Defender-ST™  Micro Red Dot 
Models

Models Features
DFST-MRD3 3 MOA MRDS Reticle

DFST-MRD6 6 MOA MRDS Reticle

Defender-ST™ Micro Red Dot
DFST-MRD3, DFST-MRD6


